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There it is Posul and Tomay; and here it is Tohoir and Tomay

OVERVIEW

The X713 argues that we cannot say that »"9 derived his rule (that we may burn
7770 7770 on 10D 27V together with AX»Y 7217N), from the ruling of ¥"7 (who says
they burnt 7105 nw together with a [xmw7 2K] 11), for by ¥ the 1w was at least
7109 (it was a 721702 w°Hw), however in the case of 2" the 770 is MAY; it is not
Xnv at all. mooIn discusses why despite this distinction we could seemingly argue
that the ruling of »"7 can be derived from ¥"9, but nevertheless it indeed cannot be
derived.

mooIn asks:
= 999 NN 1DOIN RNVN YN INT JNNY RNDYWA PNYY 13290 NYD)

And the "9 has a difficulty; granted according to the one who maintains that

food can be xnwun food Xn*7X71 (even) by 7m17n, it is well understood -
= 3RNIINT DIVON NYY NYYA 19297 2XNDIN 9*99 XYY

That we cannot derive that we may be X»“v»n an 12297 99K in the sixth hour (the
7MY A1) with axHY 0, from the fact that we can be Xavn the oil, which was

RNMINTA 910D, with the 11
= 959V 999 XY INAN NHIINTI DIIN NHVM YN PPN 499N NI YaN

However, according to the one who maintains that %218 is not %218 N»w»

RNMIRTH (even by 7m17n), why cannot we properly derive the rule of »"1 from the

testimony of ¥, that -
= SNFIPIIINT PYRI NHNINT DID9H MYUYD 9NV 15

! This refers to »ax (on ¥,7°) who maintains that (by 2°w7p and even) by 7m17n the rule is that 721X is 9218 Xnun
XNPIIRTA.

2 See previous X377 1"7 mooin [TIE footnote # 3], that Maon (according to n"7) equates (7X37) NOR and xHL.

3 n"9 argues that we can burn mww qvwa 7Mav 7170 (which is only 112772 MOR) together with axnu AN, However
when they will come in contact during the burning, the 7770 7m0 (which is 770X only 31277 [making it similar to
a 711277 AxRmw]) will become XN>»7IRTA RV (since RNPNRTA 2R RALA 22 [by 7m17n]). In the case of ¥" (from where
n"1 wishes to derive this rule), we are burning 1w which is Xn»87 7109 together with the 11 which will raise the
level of nxmv by the j»w. How can we derive that we may be Xn™M&™» Xnun something which is merely 10X (or
Xnv) only 112777, from the rule that we may increase the 78”0 of something which is already Xn>»RT (Xnw) 700?!
Even if we may increase the level of Xn»1RT Axmv by 170 which is already Xnv, nevertheless we cannot derive
from it that we can be 70 &nvn which is Rn»IRTA ML (and (X7Y) MOX only 112777).

4 This refers to X327 and X277 7W» 727X 72 XIX 27 on X, 7 who maintain that by 72170 (certainly) 231X 807 92 TR
XNPIIRTA.

5 This is the testimony of ¥"1 regarding the 12w (which is Xn»7x7 109) which becomes a X087 WX by touching
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Just as it is permitted to make from a Xn>>1IRT 5105 a RNIRT PWNRA -
= 71324947 23V 413297 NYIDINN MYYY 9590 91) 9N

It is also permitted to make from an 33397 90°R a 1297 W -
- $5915 PIN 529 920D NI NPT TII0A 1P

As the X713 immediately attempts to compare 710°X to XM, for the X7na states,
‘shall we say that »''2 assumes, etc.’

N1DO0IN answers:
- AN MY ITPYPY I2PY RNNNT 9IP9P2T 50T KIT PN 13529 IMIIN)

And the 5''1 says; that they are not alike; for from the fact something which was

spoiled Xn»I87% (referring to the 7100 12w), one may spoil it even more (making it

into a WX by burning it with a 71 which is an AR?V7 2X) -
= 13397 DIPYHPA IION M 19297 DVPUP HPYPY oY 10191055 PN

We cannot derive that one may additionally spoil something which was
spoiled 313972 (the n°ww Aywa 7M7Y 72170, by burning it with aR»v 7170), even if

the addition is only J3297% (since 2218 Xnvn 92 1X), therefore "3 cannot derive his ruling

from the testimony of ¥" -
- 1115299 YWIrhY NPYPY 19297 NOIN IPYP 29V 111 TINDa YaN

However, the X3 shortly correctly compares spoiling an 31297 99°°KR to
spoiling a j3297 "wbw,

the 71 (which is an ARm™L7 IR).

¢ This refers to the nwWw AvYwa 717w 770 which is 132777 770K (and is considered as if it is 132777 7RAY).

7 When we will burn the 770 7170 together with the x»v 77N it will not become XN»IXTA RAY, since 791X TR
RN™IRTA 92K RAwn; it will merely become 11271772 &1 (on a higher level [from MoR or 7109 (which is like a "W 5w) to
a "1w]). It is the view of m201n (in the question) that if we can increase the Xm0 level Xn»KXT1, we can also increase
the xRmw level 13277,

8 The X3 asks (rhetorically), ‘shall we say that #"7 maintains that the 78107 282 XP0IW W3 was XN NXTA and the
TRMILT 7212 XAV w3 was only 1313777°, in which case the comparison to the case of n"1 would be understood; just
as we can make a 1312771 Xnv (the “w2) into a higher level of 1312777 A8MIW (since RN™MIRTA 79I XKnvR 79X PR), SO t00
can we make an 71277 MOX (the NWw AYw2 77V 717N) into a 1312777 Xnv. This proves that we can compare an M0X
711277 to a XMW (or 7109) 11217. The same should apply to ¥, once we know we can compare 0°X to XMWY, it would
seemingly follow that if we can increase a Xn» X7 7RM™W, we should also be able to increase a XMWY (or MO°KR) J1277.
The two should be parallel.

® We cannot compare what the X713 says shortly, 121 X271 (see footnote # 8), to the manner which noo1n wanted to
derive from ¥"1 (see footnote # 7), as MOIN continues to explain.

19 mpon now rejects completely what he assumed in the question that increasing a Xn»7I87 78 and increasing a
11277 XM are equal (see footnote # 7). Rather, mao1n maintains now that even if we may increase the level of fxmv
by a Rn»7IRT ARM, this gives no indication that we may raise the level of XM by a 11277 Axmw. See footnote # 23.
' The X7m3 there is merely comparing (73317) MK to (13277) XA, that if one may increase the level of 78w by a
11277 A8, one may also increase an 11277 MoK to a ‘higher’ level of fAxmw. However, the X713 did not compare
increasing the level of Xn»7IR7 AR to increasing the level of 11277 aRM.
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Mmoo proves his point that we cannot compare ¥N»7IRT I8N0 to 131277 ARMAIL:
= ZNFYNINT DIINN RNDVY PPPYUN HNMIV (x,10) INPY N9 NIA0DT 201 229 NNT Y10

You know that this is so, for according to "' who maintains later that ypwn

182 have the ability to be R»w» others Xn»9IRT? -
= NIPYIINT RN 2297 ARMIV 10N 7Y MM

So in the case of m'"=, the XnLIW W2 by a ARPWT THN is RN®INRTR XAV, and

nevertheless -
= 19299 %Y IMYYY 991 NIPY 19397 NIDIN 131719390 9299 XY

01 "1 does not derive from 7"on0 that it is permitted to make from an =938

31297 a 1297 W and the nww nywa aMav AN will only become 112777 Xaw -
= 1899294 %)W NN 9N XD NNV DY I99IYYI YIIN NHVN N PN 9MINT INDYT

For, according to the 7'"» that 218 X»uv» %238 PR, when he burns the nm7n

770 with the ax»L 70 it will only become a 13397 "w.'5 This proves that even if
one is permitted to increase a XnN»7RT AXMY, we cannot derive from this that one may increase a
13277 AR,

mooIn asks:'°
= NPY 229N 92011 193 NN 29 1713297 ANMV 1013 1Y 0'PINT INND HINN ON)

12 m7> '3 (on 2,10) explains the np1onn between *'11 »"7 in this manner. The AR 721 (of 7"onN) is where the meat
touched liquids which touched a y7w making the meat a *w>w (the YW is an 2R, the 7pw» [which touched anything
that touched the 7w (and became a NWwX1)] is a 1w [this was before the Ppwn Rnvn 7107 IR 90197 937 727 1" N
1MwR1 N1ao], and the meat which touched the npwn is a *w>bw). This XMW 791 according to »"7 is only 7132772 X1
since he maintains 2R XnV? 1PPWH NRMW is 112777, therefore we see from n'"onn that they were Xnvn a 131277 IR
with a Xn»MR7 IR, therefore we can burn nww Aywa 7170 (which is 1312777 7MOK) together with Ax»v 71N
Xn»8T. However °01° " maintains that 2°9nR Rau? Ppwn DMV is XN™IXRT, so by 7"on1 they merely added nxmw to
a RNIIRT IR, we cannot derive from this the case of n" were we wish to add Xn»2K7 7RIV to a MOR (or IRMAIW)
112777,

13501 " argues on n"1 and maintains 7727 72 72X 7, we cannot derive that ARV QY 7MAY AMIN POV,

14 Seemingly even according to > we can derive the rule of »". Just as by 1"or7 we increased a Xn»MRT Xm0 (the
WOW W31) to a greater level of axmw (it becomes 1w Ww3), so similarly we should be allowed to elevate the 0K
11277 (the nww 7AvYwa 7MY A10N) to a greater level of 11277 AR, for even if it is burnt with the axnv AN, it will
only become a 712777 "W NRAIW since 22 Knva 23R PR, The R"wnn, however asks that we cannot derive anything
from 77"omn (even if we assume that increasing a Xn™IX7 and a 1277 are equal), for since we are assuming that X
901 Rnwn 9IX, then by 71"onn all they did was to elevate a Xn™R7 w2 (according to *01 M) to a 732771 "1w; how
can we derive from this that we can elevate a 131217 >w°2% to a 13217 "3w?! Rather says the X"wamn that M9oIN meant
that "1 could derive the rule of n" from ¥"1 (where we elevate a Xn»IX7 w*Hw to a RN™MRT NWR). See in X"wIn
717877 how he explains what M50 writes, 'RN*7IRT R 7 IR0 791 2", "',

15 mooin assumes that the ARAY 72170 in the 7Wwn means (even) a WX,

16 This question is based on MooIN conclusion that we cannot derive that it is permitted to increase a 131277 7X@ from
the fact that we may increase a Xn»MIXT AR™MW. See ‘Thinking it over’ # 1.

17 See footnote # 12; according to m»7° ' the xmL T2 of A"on7 is a 132717 ARMY (according to »"7 who maintains
112771 O°NR RV PRPwn njmw). Therefore 7"om teaches us that one may make from a 13217 *w°%W into a (1277) "1w.
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And if you will say; that according to those who establish the case of 77"or7 by a

3297 NP 79, it turns out that 11" is also adding to the testimony of ¥'" -
= IBPYUNY IMYYY 990 RNMIINTH DIV 9INT NIYPY Y297

Because from the testimony of ¥''9 that one may make from a Xn»9I87 100 (the

2109 W) into a PIWR" -
= 1959 IMYYY 991 13297 YWY NNOY 119NV ND

We would not know the rule of 7"0m that it is permitted to make a "12 from a
11297 Wb -

- HINOY YN N2PPY 29 N2 NY 19297 DNV 1912 90NT INDY 9NRP) 1Y 7599 20995w19>2)
And in 252> 7170 he asks this question, saying; according to the one who

establishes the ruling of 7"on by a 3397 R=W 793, ¥'"7 is coming only to lessen

the °n°77 of being 0°w7p1 N Rnwa! The "MW1 responds -
$NI9P 935 13N 229 9927 Z29PHNNY IN 21DN927) NINY D90 %37 DI D1aV3 1NN

You can explain it that ¥"1 is discussing a 21 912w of a 7577 n°2, who is XV only
122972, However, he exchanges the words of 337 '3 with the words of X95p 9a.

SUMMARY

We cannot derive that it is permitted to increase the nIRmW (even 7127171) of
something which is 132771 Xnv, from the fact that it is permitted in increase the
nxmw of something which is Xn»x77 Xnv. >

THINKING IT OVER
1. It seems that N190IN last question is based on the y17°n of the " that we cannot

18 We burn the Xn»™X71 2100 1w together with the 73, making the 12w a RN™MRTA PWRA.

19 y"9 is discussing increasing the IXmL by a XN>MIRT I8 (see footnote 18). 7"omM is discussing increasing a IRMY
11277 (see footnote # 17). mdon just concluded that even if we may increase a Xn™IX7 XA (the rule of ¥"7) that
does not prove that we may increase a 11277 8™ (the rule of 7"omM). The rule of 7"onN is a greater w17°n than the
rule of ¥"1! From the expression of the 711wn which states ¥ 7°017 it would seem that the w17°m of ¥ is greater!
2013 X5 DoMoD.

2l Therefore, the w171 of ¥" is greater, since you can be Xaun even a 112775 7100 and make it into a WX, and not
only to make a 732772 (WTP2 W°7W) X1 into a 1w (the w7°n of 7"on). See ‘Thinking it over” # 2.

22 In our X7m3, it is X19P 72 DWwn 9" who establishes the case of 7"on7 by an XN™IRT AXMLT 2% and a  ARMIVA TN
XN*IIRT (see X,10) and 1371 ' establishes our 71w by a 131277 XML 121 (see 2,10); however in the *n9u17 it is the exact
opposite, according to X15p 12 the mwn is discussing a 131377 AR 791 and according to > the mwn discusses a T
RNTIRT ORI,

2 For an explanation why the two are different, see (7’121 2"77» and) XN»MRT NX that there is a difference
between Xn*7RT *MO°R (which are X¥o17 *0°K) and 11277 *MO°X (which are [merely] X123 *M0°X). By an X¥51 M0°K the
Rnvi 127 is considered totally unfit (like molded bread) and therefore adding a higher level of axmv is not really
making it any worse, however by an X723 0K, it is merely that the a°»om tell us to act as if it is &»v, but really
XNMIRTA it is not X1y, therefore we may (perhaps) not add any nAXmv to it even 71277 ARMI.
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derive adding %m0 to a 13277, from the fact that we can add nxmw by a Rp»IR7T.2
However this question (that 7"or7 adds on ¥"7) can be asked even without the y17°n
of the *"1. According to those who establish 7"onn by a 13277 aRmww 79, if we
maintain XN™IRTA DWTP2 2R RLA 7O, it turns out that 71"0n0 permits to be Xnwun
XN»7XTA something which was Xn»7X71 70, however ¥"1 merely teaches us that
one may add Xn»7RT 78"V to something which was already &n» 871 (9109) Rnv!
Why did not n1o0n ask this question??

2. According to the "»2w17° that ¥"9 is discussing a 1312772 01 912v,%° let us say that
n" derives his rule (that axav 7190 Qv PR AYWA 700 ARMY 1MW) from ¥,
Just as there they would burn the 12w that was 9105 only 712771 with a 91, which
caused the 1nw to become Rn*7X71 X1, similarly the 132771 7OX 7w may become
RD™IRTA K0!

24 See footnote # 16.
25 See TRA R"wIN.
26 See footnote # 21.
27 See 1R KW,
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